(}002260909377998

Elo—0 HERAY O0—0—

e

4

@ FioFiEXis Y= T(x+2) - Y=

oot6 4 wzmmam  [HE /om
WP C:iy=4—x2 & xile CHENLHS% DL, DOMEEE S&45.

(1) Sk k.
(2) #i(-2, 0)7‘"U{t 3 L oy C L THENLBAONRE T L T5. T & S ORMHTL L,

(3) HiE ? Th'Y) DOMiEE 2FENTHEME LD, LOARIZRD L.

S = j_z 4-x? dx

=[4x-3c-3]_2
8 "'3- "('3*'%')

- SE

— Iy

n.n’no

CEM eI T o X B E K

12
%‘-x+%—(4-x’)=0 & x +§x—?= 0

& (xr2)(x-F)=0

b
X= —21 IJ'

-]
(Faw-(brrd) ax

—
1]

b
— (% (xt2)(x-£) dx .
L TR ) s
{52}
. 208
375

. s _ 2048 _ 16
- T=-% = 375 ~ 3

= 2048 _ 2000
375 375

48
375

0

>
-g—ﬂ LY
47T, T2 2 2;}&@;\77‘(

iz

S
2




D s L
0002260909377999

‘e 0 FERLXY 00—

2016 4 B3 45 4 2358 /oxx
4| B C: iy =4—2% L sl CHEhAEH% DL L, DOWE S LT 3.

(1) S#kd &L,
(2) "(-2, 0% @U@*——@ﬁﬁathlimtﬁﬁmﬁﬁ%Ttﬁé Tt——@k$%ﬂm%$.

(3) MixH % ThY) DOTRE 2ENTLENE LET5. LOABRNE kD &

(N (0FERLY, Liz@oFs)ERES
&HT, L= Faep (B> 2) eace

%x-r-ﬁ—(z{--x*):o & XvEx+k-4=0

CeLa%SaxBiE8 e o, B (a<p) L, BRL1R 0 HRSY,

dtp=-F  ap=4-4 -0

"

P, 0 gt
L4_—x-—(%z+ﬁ) dx —L (x=a)(x—p) dx

I

L(p-o
Oy, (B-d)*= (a+pl-4af
-Z-E""f'(ﬁ"‘?')

e

b —_—

—4k

2
Sp-a>0dY, frd= gqfro-f—zsﬁ

3
2

@ 1 ATALT, é— g—,; (104 -25f)

- 16
S 0 RATHITS, b (104-25R)T = 5

.-3.
2

. (104-258)* =&

(104 -258)% = 250000

- 104 - 258 = Y250000
fge 0%y

25

.:L_:y_: I-f-—-——zr




